
Preparing for Algebra 2

Summer Math Skills - Mason High School

Simplify each expression.
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Solve each equation.
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Solve each equation by factoring.
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Solve each equation by taking square roots.
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Solve each equation.  Remember to check for extraneous solutions.
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Solve each equation.
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Write an equation for each graph.
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Simplify.  Your answer should contain only positive exponents.
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Sketch the graph of each line.
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Write the slope-intercept form of the equation of each line.
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Find each product.

79)  

  

(

 

4

  

p

 

 + 5

  

)

 

(

 

3

  

p

 

 − 5

  

) 80)  

  

(

 

2

  

n

 

 + 4

  

)

 

(

 

2

  

n

 

 + 3

  

)

81)  

  

(

 

2

  

x

 

 + 2

  

)

 

(

 

3

  

x

 

 − 5

  

) 82)  

  

(

 

2

  

r

 

 + 1

  

)

 

(

 

2

  

r

 

 − 5

  

)

83)  

  

(

 

4

  

x

 

 + 3

  

)

 

(

 

2

  

x

 

 − 4

  

) 84)  

  

(

 

2

  

k

 

 − 3

  

)

 

(

 

5

  

k

 

 − 3

  

)

Simplify each expression.
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Simplify.
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Solve each system by substitution.

97)  

  

y

 

 = 

 

2

  

x

 

 − 8

   

y

 

 = 

 

−3

  

x

 

 + 12

 

98)  

  

y

 

 = 

 

−4

  

x

 

 + 3

   

y

 

 = 

 

−2

  

x

 

 + 1

 

99)  

  

y

 

 = 

 

3

  

x

 

 + 2

   

y

 

 = 

 

4

  

x

 

 + 2

 

100)  

  

y

 

 = 

 

4

  

x

 

 + 8

   

y

 

 = 

 

−2

  

x

 

 − 4

 

101)  

  

y

 

 = 

 

−2

  

x

 

 − 6

   

y

 

 = 

  

x

 

102)  

  

y

 

 = 

 

3

  

x

 

 + 9

   

y

 

 = −3

 

-8-



-9-

Answers to Summer Math Skills - Mason High School
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